Contract 23-02 - West Linco	In Avenue and M	IcKinley Street Reconstruct	ion (#8380709)					
Owner: Oshkosh WI, City o	_							
Solicitor: Oshkosh WI, City				1				
	,			 				
Bid Opening: 02/20/2023 11	1:00 AM CST							
	1							
					Carl Bowers & Sor	ns Const Co. Inc	Jossart Bro	thers Inc
				1	N1844 Malo		Jossuit Dio	arers, me.
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1 Section 1	Item Code	item Description	COLIVI	Quantity	OmtTice	\$4,036,254.95	Oint Trice	\$4,168,111.10
Section 1		Clearing; complete as				\$4,030,234.93		54,100,111.10
	1011		In de Diameter	390.00	\$38.00	#14.8 2 0.00	¢10.50	¢4.005.00
	1011	specified Grubbing; complete as	Inch Diameter	390.00	\$38.00	\$14,820.00	\$10.50	\$4,095.00
	1001		Inch Diameter	390.00	\$20.00	¢7 000 00	¢21 F0	¢12 20E 00
	1021	specified Mobilization; complete as	men Diameter	390.00	\$20.00	\$7,800.00	\$31.50	\$12,285.00
	1050	specified	Lauran Carri	1.00	¢140.000.00	¢1.40.000.00	¢200 000 00	¢200 000 00
	1050	Removing pavement;	Lump Sum	1.00	\$140,000.00	\$140,000.00	\$200,000.00	\$200,000.00
	1100		C V 1 -	1 420 00	¢Ε.00	¢7.150.00	¢10.50	¢1E 01E 00
	1100	complete as specified Removing curb and	Square Yards	1,430.00	\$5.00	\$7,150.00	\$10.50	\$15,015.00
		gutter; complete as						
	1110		LinconFoot	4.700.00	¢2.00	¢14.100.00	¢0.01	¢47.00
	1110	specified Removing concrete and	Linear Feet	4,700.00	\$3.00	\$14,100.00	\$0.01	\$47.00
		asphalt sidewalk and						
	1120	driveway; complete as	Course Foot	24 200 00	¢0.40	#20 F00 00	#0.70	#22 224 00
	1120	specified Unclassified excavation;	Square Feet	34,300.00	\$0.60	\$20,580.00	\$0.68	\$23,324.00
	1200	· ·	Calda Vanda	4 400 00	¢16.00	Ф 7 0 400 00	¢20.11	#00 404 00
	1200	complete as specified Excavation special	Cubic Yards	4,400.00	\$16.00	\$70,400.00	\$20.11	\$88,484.00
		_						
	1220	(paving); complete as	Т	650.00	¢0.01	#C FO	¢0.01	¢(50
	1220	specified 7" concrete pavement;	Tons	650.00	\$0.01	\$6.50	\$0.01	\$6.50
		with 5" CABC and						
	1201	grading; complete as	Carrana Van 1-	7 200 00	¢47.70	¢240 100 00	¢40.11	¢2E0 E02 00
	1301	specified 7" concrete pavement	Square Yards	7,300.00	\$46.60	\$340,180.00	\$49.11	\$358,503.00
		HES; with 5" CABC and						
		grading; complete as						
	1303	specified	Square Yards	1,160.00	\$50.60	\$58,696.00	\$53.31	\$61,839.60
	1303	7" concrete pavement	Square rarus	1,100.00	\$30.60	\$36,670.00	ф33.31	\$01,039.00
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
	1200	and traffic control;		1=0.00	aca ==	#42 P-1- 00		
	1309	complete as specified	Square Yards	470.00	\$99.50	\$46,765.00	\$101.54	\$47,723.80

Contract 23-02 - West Linco	oln Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City		, i						
Solicitor: Oshkosh WI, City								
,	, -							
Bid Opening: 02/20/2023 13	1:00 AM CST							
					Carl Bowers & So	ns Const Co. Inc	Jossart Bro	thers Inc
					N1844 Male		Jossait Dio	thers, me.
					Kaukauna,	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		8" concrete pavement		2	***************************************			
		HES; with 6" CABC and						
		grading; complete as						
	1313	specified	Square Yards	350.00	\$78.50	\$27,475.00	\$83.53	\$29,235.50
	1313	8" concrete pavement	Square rarus	330.00	ψ/0.50	Ψ27,473.00	ψ00.33	Ψ27,233.30
		doweled; HES; with 6"						
		CABC and grading;						
	1315	complete as specified	Carrana Vando	95.00	\$82.50	\$7,837.50	\$87.73	\$8,334.35
	1515	8" concrete pavement	Square Yards	95.00	\$62.50	\$7,837.30	\$67.73	\$6,334.33
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1319	complete as specified	Square Yards	295.00	\$130.30	\$38,438.50	\$133.98	\$39,524.10
		Concrete pavement gaps;						
	1334	complete as specified	Each	3.00	\$1,000.00	\$3,000.00	\$1,050.00	\$3,150.00
		Concrete pavement						
		approach slab; HES;						
	1335	complete as specified	Square Yards	110.00	\$230.00	\$25,300.00	\$267.75	\$29,452.50
		Crushed aggregate base						
		course; complete as						
	1340	specified	Tons	1,290.00	\$15.00	\$19,350.00	\$15.75	\$20,317.50
		Pavement ties; complete						
	1350	as specified	Each	130.00	\$8.00	\$1,040.00	\$8.40	\$1,092.00
		Drilled dowel bars; 1";						
	1352	complete as specified	Each	63.00	\$13.00	\$819.00	\$13.65	\$859.95
		Drilled dowel bars; 1 1/4";						
	1354	complete as specified	Each	82.00	\$17.00	\$1,394.00	\$17.85	\$1,463.70
		Adjust manholes and						
		inlets; complete as						
	1360	specified	Each	93.00	\$375.00	\$34,875.00	\$393.75	\$36,618.75
		Turf restoration;	-		4	,- ,- ,-	,	4,.
	1370	complete as specified	Square Yards	4,300.00	\$9.00	\$38,700.00	\$8.40	\$36,120.00
		Restore gravel	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	-,	ψσ	422,700.00	40.10	400/120.00
		driveway/apron;						
	1372	complete as specified	Square Yards	230.00	\$20.00	\$4,600.00	\$21.00	\$4,830.00
	13/2	complete as specified	oquate ratus	230.00	φ∠0.00	φ 4 ,000.00	φ∠1.00	₽ 1 ,030.00

		IcKinley Street Reconstructi	on (#8380709)					
wner: Oshkosh WI, City								
licitor: Oshkosh WI, City	y of							
d Opening: 02/20/2023 1	1:00 AM CST							
					Carl Bowers & So	ns Const Co. Inc.	Jossart Bro	thers, Inc.
					N1844 Maloney Road			
					Kaukauna, WI 54130			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Cold weather covering						
		(concrete pavement) -						
		single visquine; complete						
	1380	as specified	Square Yards	1,430.00	\$0.01	\$14.30	\$2.10	\$3,003.
		Up-charge for late season	<u> </u>	, i	·	·	·	···
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	280.00	\$0.01	\$2.80	\$10.50	\$2,940.
	10,0	12" radius curb with 6"	Cubic Turus	200.00	ψ0.01	Ψ2.00	\$10.00	Ψ2/> 10.
		CABC and grading;						
	1410	complete as specified	Linear Feet	800.00	\$15.00	\$12,000.00	\$15.75	\$12,600
	1410	30" curb and gutter; 7";	Linear rect	000.00	ψ15.00	\$12,000.00	\$13.73	ψ12,000
		with 5" CABC and						
		grading; complete as						
	1440	specified	Linear Feet	300.00	\$48.00	\$14,400.00	\$49.35	\$14,805.
	1440	Sidewalk curb; complete	Linear reet	300.00	\$40.00	\$14,400.00	\$49.33	\$14,605.
	1460	•	Limona Foot	220.00	¢45.00	¢14.400.00	¢47.25	¢1E 120
	1460	as specified 4" concrete sidewalk with	Linear Feet	320.00	\$45.00	\$14,400.00	\$47.25	\$15,120.
	1500	3" CABC and grading;	C F .	15 000 00	ф.c 00	#100 1 2 0 00	40.66	#10F CO.4
	1500	complete as specified 6" concrete sidewalk/	Square Feet	15,900.00	\$6.80	\$108,120.00	\$8.66	\$137,694
		· ·						
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	15,500.00	\$7.80	\$120,900.00	\$9.71	\$150,505
		6" concrete sidewalk/						
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	480.00	\$8.15	\$3,912.00	\$10.08	\$4,838
		8" concrete sidewalk/						
		driveway/ramp with 3"						
		CABC and grading;						
	1520	complete as specified	Square Feet	730.00	\$8.45	\$6,168.50	\$10.40	\$7,592
		8" concrete sidewalk/						·
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1524	specified	Square Feet	350.00	\$9.15	\$3,202.50	\$11.13	\$3,895.
		6" concrete step; complete	· ·			.,		. ,
	1530	as specified	Square Feet	510.00	\$70.00	\$35,700.00	\$72.45	\$36,949.

		IcKinley Street Reconstruct	ion (#8380709)					
wner: Oshkosh WI, City	of							
olicitor: Oshkosh WI, City	y of							
id Opening: 02/20/2023 11	1:00 AM CST							
					Carl Bowers & So	ons Const Co. Inc.	Jossart Bro	thers, Inc.
					N1844 Mal		,	,
					Kaukauna	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem code	Curb ramp detectable	COIN	Quantity	Cilit i licc	Extension	OIII THE	LATERISION
		warning field						
		_						
	1540	(natural/non-painted);	C F .	400.00	# 22 00	#15.240.00	#22.60	#1 (120 (
	1540	complete as specified	Square Feet	480.00	\$32.00	\$15,360.00	\$33.60	\$16,128.0
		No. 4 reinforcing rods -						
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	4,320.00	\$2.00	\$8,640.00	\$2.10	\$9,072.0
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	290.00	\$7.00	\$2,030.00	\$7.35	\$2,131.5
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	5,100.00	\$0.01	\$51.00	\$0.89	\$4,539.0
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	1,800.00	\$0.01	\$18.00	\$1.47	\$2,646.0
		Cold weather covering	-					
		(sidewalk) - double						
		visquine with 6" hay;						
	1584	complete as specified	Square Feet	1,800.00	\$0.01	\$18.00	\$2.57	\$4,626.0
		Up-charge for late season	1	,	****	* ****	,	, , , , , , , , , , , , , , , , , , , ,
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	95.00	\$0.01	\$0.95	\$26.25	\$2,493.7
	1570	Furnish and install tree;	Cubic Turus	33.00	ψ0.01	ψ0.75	Ψ20.20	Ψ2,170
	1600	complete as specified	Each	19.00	\$550.00	\$10,450.00	\$577.50	\$10,972.
	1000	Locate existing property	Lacri	17.00	φοσο.σο	\$10,430.00	ψ377.30	ψ10,772.0
		monuments; complete as						
	1650	specified	Each	18.00	\$150.00	\$2,700.00	\$49.46	\$890.2
	1650	Replace existing property	EdCII	16.00	\$150.00	\$2,700.00	\$45.40	ф090
		monuments; complete as						
	1650	_	г. 1	10.00	#F0.00	#000.00	#40.50	#1 000 ·
	1652	specified	Each	18.00	\$50.00	\$900.00	\$60.59	\$1,090.6
		Sawing existing						
		pavement; complete as			المدانية		المالية	
	1700	specified	Linear Feet	1,230.00	\$2.00	\$2,460.00	\$2.63	\$3,234.9
		Sawing concrete						
		pavement full depth;						
	1710	complete as specified	Linear Feet	460.00	\$3.00	\$1,380.00	\$4.20	\$1,932.0

Contract 23-02 - West Linco	In Avenue and M	IcKinlev Street Reconstruct	ion (#8380709)				I	
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Solicitor Controls 111, City	1							
Bid Opening: 02/20/2023 11	:00 AM CST							
o I O	1							
					Carl Bowers & So	ons Const Co. Inc.	Jossart Brot	thers. Inc.
						oney Road	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
						, WI 54130		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Tiem code	Tack coat; complete as	001111	Quarterly	- Chief Trice	Extension	5.11. T 11.00	2.XXVII.OTOTI
	1900	specified	Gallons	45.00	\$8.00	\$360.00	\$8.24	\$370.80
		4" asphaltic pavement LT			40100	400000	74123	40.000
		with 10" CABC and						
		grading; complete as						
	1906	specified	Square Yards	50.00	\$60.00	\$3,000.00	\$87.94	\$4,397.00
		4" asphaltic transition LT	1		· · · · · · · · · · · · · · · · · · ·	. ,	·	· ,
		with 10" CABC and						
		grading; complete as						
	1911	specified	Square Yards	580.00	\$56.00	\$32,480.00	\$55.65	\$32,277.00
		4" asphaltic surface LT	•					
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	115.00	\$54.00	\$6,210.00	\$64.47	\$7,414.05
		2" asphaltic surface LT						
		with 6" CABC and						
		grading; complete as						
	1917	specified	Square Yards	100.00	\$54.00	\$5,400.00	\$49.25	\$4,925.00
		Asphaltic cold weather						
		paving; complete as						
	1918	specified	Square Yards	125.00	\$0.01	\$1.25	\$57.75	\$7,218.75
		Furnish and install 10"						
		storm sewer; complete as						
	2002	specified	Linear Feet	32.00	\$83.00	\$2,656.00	\$70.00	\$2,240.00
		Furnish and install 12"						
		storm sewer; complete as						
	2003	specified	Linear Feet	659.40	\$75.00	\$49,455.00	\$62.00	\$40,882.80
		Furnish and install 15"						
	2007	storm sewer; complete as		207.00	400.00	#24 (22 00	477.00	400 000 50
	2006	specified	Linear Feet	307.90	\$80.00	\$24,632.00	\$75.00	\$23,092.50
		Furnish and install 18"						
	2000	storm sewer; complete as specified	Limon Ecol	200.20	¢0= 00	¢24 F92 00	\$80.00	¢22.127.00
	2009	Furnish and install 24"	Linear Feet	289.20	\$85.00	\$24,582.00	\$80.00	\$23,136.00
		storm sewer; complete as						
	2015	specified	Linear Feet	158.00	\$110.00	\$17,380.00	\$114.00	\$18,012.00
	2015	Furnish and install 27"	ьшеаг геец	136.00	\$110.00	\$17,300.00	\$114.00	\$10,012.00
		storm sewer; complete as						
	2018	specified	Linear Feet	140.00	\$113.00	\$15,820.00	\$130.00	\$18,200.00
	2016	specified	Linear reet	140.00	\$113.00	\$15,620.00	\$150.00	\$10,200.00

Contract 23-02 - West Lincol	In Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City	of							
Bid Opening: 02/20/2023 11	:00 AM CST							
1 0								
					Carl Bowers & So	ns Const Co. Inc.	Jossart Broth	ers. Inc.
					N1844 Malo		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
occion Title	Hem code	Furnish and install 36"	COLIVI	Quantity	CHR THEE	Extension	Cint Titee	Extension
		storm sewer; complete as						
	2024	specified	Linear Feet	178.90	\$162.00	\$28,981.80	\$170.00	\$30,413.00
	2024	Furnish and install 42"	Effical rect	170.50	ψ102.00	\$20,701.00	\$170.00	φου, 415.00
		storm sewer; complete as						
	2027	specified	Linear Feet	197.60	\$185.00	\$36,556.00	\$195.00	\$38,532.00
	2027	Furnish and install 48"	Effical rect	177.00	ψ105.00	\$30,330.00	\$155.00	φοο,οοΣ.οι
		storm sewer; complete as						
	2030	specified	Linear Feet	926.90	\$240.00	\$222,456.00	\$235.00	\$217,821.50
	2000	Furnish and install 24" x	Effect Feet	320.30	Ψ210.00	Ψ222,130.00	Ψ200.00	Ψ217,021.00
		38" HERCP Class III						
		storm sewer; complete as						
	2049	specified	Linear Feet	331.40	\$170.00	\$56,338.00	\$180.00	\$59,652.00
	2047	Furnish and install	Effical rect	331.40	ψ170.00	\$30,330.00	\$100.00	φον,002.00
		standard storm sewer						
		manhole (2' diameter);						
	2200	complete as specified	Vertical Feet	3.29	\$600.00	\$1,974.00	\$490.00	\$1,612.10
	2200	Furnish and install	, er treur r eet	0.25	φοσοίσο	\$1,57,1100	\$150.00	\$1,01 2 .11
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	53.95	\$500.00	\$26,975.00	\$585.00	\$31,560.75
	2201	Furnish and install	, er treur r eet	33.50	ф000.00	Ψ20/37 3.00	φοσο.σσ	φο 1/0 σου τ
		standard storm sewer						
		manhole (5' diameter);						
	2202	complete as specified	Vertical Feet	1.00	\$850.00	\$850.00	\$585.00	\$585.00
		Furnish and install			,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,,,,,,,,
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	32.76	\$1,100.00	\$36,036.00	\$1,125.00	\$36,855.00
		Furnish and install			. ,	,		
		standard storm sewer						
		manhole (7' diameter);						
	2204	complete as specified	Vertical Feet	28.76	\$1,350.00	\$38,826.00	\$1,190.00	\$34,224.40
		Furnish and install			. ,	. ,	.,	. ,
		standard storm sewer						
		manhole (8' diameter);						
	2205	complete as specified	Vertical Feet	7.56	\$1,700.00	\$12,852.00	\$1,510.00	\$11,415.60

Contract 23-02 - West Lincol	In Avenue and M	cKinlev Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City o	_	I		 				
Solicitor: Oshkosh WI, City								
Solicitor: Oshikosh 111, City				+				
Bid Opening: 02/20/2023 11	-00 AM CST			+				
Did Opening. 02/20/2023 11	.00 7101 C51			+				
					Carl Bowers & So	no Const Co. Inc	Jossart Bro	those Inc
				+			Jossalt Dio	mers, mc.
				 	N1844 Male	•		
C ti Tid	Tr. C. 1	T. D	11.01	0 "	Kaukauna,		TI '(D '	F (.
Section Title	Item Code	Item Description Furnish and install	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		standard storm sewer						
		inlet manhole (4'						
	2242	diameter); complete as	**	40.40	4.00.00	444 (50.00	4550.00	44.550.50
	2213	specified	Vertical Feet	19.43	\$600.00	\$11,658.00	\$750.00	\$14,572.50
		Furnish and install Type 3						
		inlet (with 18" sump);						
	2237	complete as specified	Each	41.00	\$2,700.00	\$110,700.00	\$2,900.00	\$118,900.00
		Furnish and install 6"						
		storm sewer lateral;			****			
	2400	complete as specified Furnish and install 8"	Linear Feet	1,258.00	\$64.00	\$80,512.00	\$76.00	\$95,608.00
		storm sewer lateral;						
	2402	complete as specified Furnish and install storm	Linear Feet	74.00	\$72.00	\$5,328.00	\$80.00	\$5,920.00
	2404	sewer marker balls;		0.600	420.00	42 500 00	400.00	42 500 00
	2404	complete as specified Furnish and install storm	Each	86.00	\$30.00	\$2,580.00	\$30.00	\$2,580.00
	2404	sewer clay dams;		42.00	4400.00	44.200.00	477.00	#2 225 22
	2406	complete as specified	Each	43.00	\$100.00	\$4,300.00	\$75.00	\$3,225.00
		Furnish and install storm						
		sewer lateral inlet;					** ***	
	2408	complete as specified	Each	42.00	\$900.00	\$37,800.00	\$1,000.00	\$42,000.00
		Storm lateral inlet						
		adjustments; complete as			*****			
	2414	specified	Each	9.00	\$150.00	\$1,350.00	\$250.00	\$2,250.00
		Furnish; install; maintain;						
		and remove Type D						
	2500	modified inlet protection;	г. 1	(5.00)	#100.00	# C = 00 00	#00.00	dc 020 00
	2508	complete as specified Sediment removal - Type	Each	67.00	\$100.00	\$6,700.00	\$90.00	\$6,030.00
	1	D modified inlet						
	0510	protection; complete as	г.		***	***	***	***
	2510	specified	Each	4.00	\$10.00	\$40.00	\$10.00	\$40.00
		Furnish; install; maintain;						
	2546	and remove stone bag;		100 00				
	2516	complete as specified	Each	130.00	\$10.00	\$1,300.00	\$12.00	\$1,560.00
	2770	Rock excavation;	61. 1.	1000	**	***	***	م د مع
	2750	complete as specified	Cubic Yards	10.00	\$0.01	\$0.10	\$0.01	\$0.10

Contract 23-02 - West Lincol	n Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City o	_	leteniey street reconstruct	OH (#0000709)					
Solicitor: Oshkosh WI, City				+				
Solicitor: Oshkosh Wi, City	01							
Bid Opening: 02/20/2023 11:	OO AM CCT			-				
ый Opening: 02/20/2023 11:	OU AM CS1							
					6.18	0 10 7		
					Carl Bowers & So		Jossart Bro	thers, Inc.
					N1844 Mal	•		
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Abandon 8" - 12" storm						
		sewer; complete as						
	2800	specified	Linear Feet	169.00	\$15.00	\$2,535.00	\$10.00	\$1,690.00
		Abandon 15" and larger						
		storm sewer; complete as						
	2802	specified	Linear Feet	10.00	\$20.00	\$200.00	\$25.00	\$250.00
		Remove 30" and smaller						
		storm sewer; complete as						
	2804	specified	Linear Feet	786.50	\$25.00	\$19,662.50	\$32.00	\$25,168.00
		Abandon storm sewer						
		manholes and inlets;						
	2810	complete as specified	Each	1.00	\$400.00	\$400.00	\$400.00	\$400.00
		Remove storm sewer						
		manholes and inlets;						
	2812	complete as specified	Each	22.00	\$500.00	\$11,000.00	\$500.00	\$11,000.00
		Connect to existing storm			·	• •	·	· ,
		sewer main; complete as						
	2850	specified	Each	12.00	\$800.00	\$9,600.00	\$1,200.00	\$14,400.00
		Connect to existing storm				41,000.00	4-,	4/
		sewer lateral; complete as						
	2852	specified	Each	4.00	\$200.00	\$800.00	\$200.00	\$800.00
	2002	Connect to existing storm	Zuer.	1.00	Ψ200.00	\$000.00	Ψ200.00	φουσιου
		sewer manhole; complete						
	2856	as specified	Each	3.00	\$500.00	\$1,500.00	\$1,500.00	\$4,500.00
	2000	Storm sewer utility line	Lucii	0.00	ф500.00	Ψ1,300.00	ψ1,000.00	ψ1,500.00
		opening (ULO); complete						
	2914	as specified	Each	3.00	\$600.00	\$1,800.00	\$750.00	\$2,250.00
	2714	Excavation special	Each	3.00	φουο.υυ	\$1,000.00	ψ730.00	\$2,250.00
		(storm); complete as						
	2950	specified	Tons	25.00	\$15.00	\$375.00	\$20.00	\$500.00
	2,500	Furnish and install 8"	10115	25.00	\$15.00	φ373.00	φ20.00	φ500.00
		sanitary sewer (relay);						
	3000		Linear Feet	1 675 00	\$170.00	\$284,750.00	\$130.00	\$217,750.00
	3000	complete as specified Furnish and install 10"	Linear reet	1,675.00	\$170.00	\$404,700.00	\$130.00	\$217,750.00
	2002	sanitary sewer (relay);	T	FF0 00	φ α 10 00	#107 000 00	#4 = 0.00	#0.4.000.00
	3002	complete as specified Furnish and install 12"	Linear Feet	570.00	\$240.00	\$136,800.00	\$170.00	\$96,900.00
		sanitary sewer (relay);			ا د ددید			
	3004	complete as specified	Linear Feet	30.00	\$260.00	\$7,800.00	\$200.00	\$6,000.00

Contract 23-02 - West Lincoln	Avenue and M	IcKinley Street Reconstruct	ion (#8380709)					
Owner: Oshkosh WI, City of				1				
Solicitor: Oshkosh WI, City o								
onenon common vii, enj								
Bid Opening: 02/20/2023 11:0	0 AM CST							
					Carl Bowers & So	ons Const Co. Inc.	Jossart Bro	thers. Inc.
	+				N1844 Mal		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
					Kaukauna	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 24"		2				
		sanitary sewer (relay);						
	3012	complete as specified	Linear Feet	20.00	\$300.00	\$6,000.00	\$450.00	\$9,000.00
		Furnish and install 8"			·		·	
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	30.50	\$500.00	\$15,250.00	\$525.00	\$16,012.50
		Furnish and install 10"						
		sanitary sewer drop;						
	3062	complete as specified	Vertical Feet	6.00	\$550.00	\$3,300.00	\$600.00	\$3,600.00
		Furnish and install						
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	195.00	\$450.00	\$87,750.00	\$390.00	\$76,050.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	15.00	\$450.00	\$6,750.00	\$500.00	\$7,500.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	2.00	\$425.00	\$850.00	\$400.00	\$800.00
		Rebuild sanitary sewer						
	2126	manhole (4' diameter);		0.00	φ <u>τ</u> οο οο	#4.500.00	#1 000 00	#0.000.00
	3136	complete as specified Pour and reshape	Vertical Feet	9.00	\$500.00	\$4,500.00	\$1,000.00	\$9,000.00
		•						
	3160	manhole bench; complete as specified	Each	1.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
	3100	Furnish and install 8" x 6"	Eacii	1.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
		sanitary sewer factory						
		wyes or tees; complete as						
	3210	specified	Each	36.00	\$300.00	\$10,800.00	\$200.00	\$7,200.00
	5210	Furnish and install 10" x	Lucii	50.00	φοσο.σσ	Ψ10,000.00	φ200.00	φ,,200.00
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3212	specified	Each	8.00	\$350.00	\$2,800.00	\$300.00	\$2,400.00
		Furnish and install 12" x			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	. ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	. ,,======
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3214	specified	Each	1.00	\$500.00	\$500.00	\$400.00	\$400.00

Contract 23-02 - West Linco	In Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City	y of							
Bid Opening: 02/20/2023 11	1:00 AM CST							
1 0								
					Carl Bowers & Son	is Const Co. Inc.	Jossart Brot	hers, Inc.
					N1844 Malor		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,
					Kaukauna, V	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"		2	J			
		sanitary sewer "Insert-A-						
		Tee" or "Kor-N-Tee";						
	3222	complete as specified	Each	3.00	\$1,200.00	\$3,600.00	\$300.00	\$900.00
	5222	Furnish and install 6"	Lucii	5.00	ψ1,200.00	ψ0,000.00	φοσο.σσ	φ>00.00
		sanitary sewer laterals						
		(new); complete as						
	3232	specified	Linear Feet	35.00	\$104.00	\$3,640.00	\$109.00	\$3,815.00
	5252	Furnish and install 6"	Effical Teet	33.00	ψ101.00	ψ5,010.00	φ103.00	φο,σ10.00
		sanitary sewer riser						
		(new); complete as						
	3233	specified	Linear Feet	9.00	\$110.00	\$990.00	\$130.00	\$1,170.00
		Furnish and install 4"/6"			4	4,,,,,,	4-00000	4-7
		sanitary sewer lateral						
		(relay); complete as						
	3234	specified	Linear Feet	1,529.00	\$100.00	\$152,900.00	\$109.00	\$166,661.00
		Furnish and install 4"/6"		2,027.00	4	4-0-2/5 0 0 0 0 0	4-01100	4,
		sanitary sewer riser						
		(relay); complete as						
	3235	specified	Linear Feet	201.00	\$106.00	\$21,306.00	\$130.00	\$26,130.00
		Furnish and install			4	42-)00000	4-00000	4-0,-0000
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	98.00	\$30.00	\$2,940.00	\$30.00	\$2,940.00
		Furnish and install clay				. ,	·	. ,
		dams; complete as						
	3238	specified	Each	49.00	\$100.00	\$4,900.00	\$75.00	\$3,675.00
		Furnish and install			,	, ,,	,	4-,-
		connection to existing 10"						
		sanitary sewer mains;						
	3302	complete as specified	Each	1.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00
		Furnish and install			·		·	*
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	3.00	\$1,800.00	\$5,400.00	\$2,500.00	\$7,500.00
		Furnish and install						
		connection to existing 24"						
		sanitary sewer mains;						
	3312	complete as specified	Each	2.00	\$2,500.00	\$5,000.00	\$3,500.00	\$7,000.00

Contract 23-02 - West Lincol	n Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
wner: Oshkosh WI, City o	f							
olicitor: Oshkosh WI, City	of							
id Opening: 02/20/2023 11:	00 AM CST							
					Carl Bowers & So	ns Const Co. Inc.	Jossart Bro	thers, Inc.
					N1844 Male		,	,
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
***************************************		Furnish and install		2				
		sanitary sewer concrete						
		collars; complete as						
	3330	specified	Each	1.00	\$500.00	\$500.00	\$750.00	\$750.0
	5550	Furnish and install 8"	Lucii	1.00	φ500.00	φου.υυ	ψ/50.00	φ, 50.0
		sanitary sewer open cut						
		casing pipes; complete as						
	3402	specified	Linear Feet	110.00	\$150.00	\$16,500.00	\$125.00	\$13,750.0
	3102	Rock excavation;	Zinear reet	110.00	\$100.00	Ψ10,000.00	\$120.00	\$10), 00.c
	3600	complete as specified	Cubic Yards	25.00	\$150.00	\$3,750.00	\$0.01	\$0.2
	3000	Closed circuit televising;	Cubic Turus	20.00	\$100.00	\$5), 50.00	φ0.01	ψ0. <u>2</u>
	3700	complete as specified	Linear Feet	2,275.00	\$2.00	\$4,550.00	\$2.00	\$4,550.0
	3,00	Closed circuit televising -	Zinear reet	2)27 0.00	Ψ2.00	\$ 1)000.00	\$2.00	ψ 1/000.0
		using push camera;						
	3710	complete as specified	Each	4.00	\$250.00	\$1,000.00	\$300.00	\$1,200.0
	5,10	Abandon sanitary sewer	Lucii	1.00	φ200.00	\$1,000.00	400.00	ψ1/ 2 00.0
		manholes; complete as						
	3800	specified	Each	2.00	\$400.00	\$800.00	\$500.00	\$1,000.0
	-	Abandon 12" sanitary			4-00000	4	444444	4-7,0000
		sewer; complete as						
	3806	specified	Linear Feet	1,008.00	\$30.00	\$30,240.00	\$12.00	\$12,096.0
	-	Remove sanitary sewer		2,000.00	40000	400/==0100	4	4-2,070
		manholes; complete as						
	3852	specified	Each	7.00	\$800.00	\$5,600.00	\$600.00	\$4,200.0
		Remove sanitary sewer;			4	40,000.00	400000	4-7
	3854	complete as specified	Linear Feet	380.00	\$30.00	\$11,400.00	\$45.00	\$17,100.0
	-	Sanitary sewer utility line			40000	4-2/20000	4	427,2000
		opening (ULO); complete						
	3890	as specified	Each	2.00	\$600.00	\$1,200.00	\$750.00	\$1,500.0
	-	Furnish and install 4"			400000	4-7-0000	4.0000	4-/
		ductile iron water main						
		(relay) with polywrap;						
	4000	complete as specified	Linear Feet	30.00	\$126.00	\$3,780.00	\$120.00	\$3,600.0
		Furnish and install 6"			,	, , ,	, , , ,	4-/
		ductile iron water main						
		(relay) with polywrap;						
	4002	complete as specified	Linear Feet	215.00	\$155.00	\$33,325.00	\$130.00	\$27,950.0
		Furnish and install 8"			+ 200.00	422,320.00	4-20.00	<i>+=7,700.</i> 0
		ductile iron water main						
		(relay) with polywrap;						
	4004	complete as specified	Linear Feet	2,570.00	\$125.00	\$321,250.00	\$120.00	\$308,400.0

Contract 23-02 - West Lincol	n Avenue and M	cKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City o			.011 (110000703)					
olicitor: Oshkosh WI, City								
onenon oshkosh vvi, eny								
Bid Opening: 02/20/2023 11:	-00 AM CST							
ou opening. 02/20/2025 11.	JULIAN COL							
					Carl Danisana & Car	no Compt Co. Inc.	Jossart Bro	Uhawa Tara
							Jossan Bio	mers, mc.
					Carl Bowers & Sons Const Co. Inc. N1844 Maloney Road Kaukauna, WI 54130 Unit Price Extension \$200.00 \$2,400.00 \$80.00 \$98,160.00 \$86.00 \$6,020.00 \$100.00 \$2,800.00 \$1,200.00 \$2,400.00 \$1,200.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00 \$1,800.00			
o d mid		* 5 · · ·	*** ***	0 111	ŕ		** !: P !	.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 12"						
		ductile iron water main						
		(relay) with polywrap;						
	4008	complete as specified	Linear Feet	12.00	\$200.00	\$2,400.00	\$150.00	\$1,800.0
		Furnish and install 1"						
		water service (relay);						
	4036	complete as specified	Linear Feet	1,227.00	\$80.00	\$98,160.00	\$95.00	\$116,565.0
		Furnish and install 1-1/4"						
		water service (relay);						
	4037	complete as specified	Linear Feet	70.00	\$86.00	\$6,020.00	\$100.00	\$7,000.0
		Furnish and install 2"						
		water service (relay);						
	4040	complete as specified	Linear Feet	28.00	\$100.00	\$2,800.00	\$110.00	\$3,080.0
		Furnish and install 1"			·	• •	·	···
		corporation and stop box;						
	4048	complete as specified	Each	40.00	\$600.00	\$24,000,00	\$450.00	\$18,000.0
	1010	Furnish and install 1-1/4"	Lucii	10.00	4000.00	\$21,000.00	\$100.00	Ψ10,000.00
		corporation and stop box;						
	4050	complete as specified	Each	2.00	\$1,200,00	\$2,400,00	\$1,000.00	\$2,000.0
	4030	Furnish and install 2"	Lacii	2.00	ψ1,200.00	\$2,400.00	\$1,000.00	φ2,000.0
		corporation and stop box;						
	4052		F1.	1.00	#1 800 00	¢1 800 00	¢1 F00 00	¢1 500 0
	4053	complete as specified Furnish and install water	Each	1.00	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.0
		service clay dams;						
	4055	complete as specified Furnish and install	Each	43.00	\$100.00	\$4,300.00	\$75.00	\$3,225.0
		connections to existing 4"						
		water main; complete as						
	4056	specified	Each	1.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.0
		Furnish and install						
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	6.00	\$1,800.00	\$10,800.00	\$2,250.00	\$13,500.0
		Furnish and install						
		connections to existing 8"						
		water main; complete as						
	4060	specified	Each	2.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.0
		Furnish and install						
		connections to existing						
		12" water main; complete						
	4064	as specified	Each	2.00	\$2,800.00	\$5,600.00	\$3,000.00	\$6,000.0

Contract 23-02 - West Linco	oln Avenue and M	cKinley Street Reconstruction	on (#8380709)					
Owner: Oshkosh WI, City								
olicitor: Oshkosh WI, Cit								
,	, -							
id Opening: 02/20/2023 1	1:00 AM CST							
ra opening. 02/20/2020 1	1.00 11.01 C.5 1	 						
		+			Carl Bowers & Sor	as Const Co. Inc	Jossart Broth	ore Inc
					N1844 Malo		Jossait Dioti	iers, mc.
						,		
C vi Trid	74 6 1	T. D	11.01	Oventity	Kaukauna,		71. 's D '	F
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6" x 6"						
		water main tee; complete						
	4101	as specified	Each	1.00	\$530.00	\$530.00	\$515.00	\$515.0
		Furnish and install 8" x 6"						
		water main tee; complete						
	4110	as specified	Each	4.00	\$720.00	\$2,880.00	\$710.00	\$2,840.0
		Furnish and install 8" x 8"						
		water main tee; complete						
	4111	as specified	Each	2.00	\$735.00	\$1,470.00	\$730.00	\$1,460.0
		Furnish and install 12" x						
		8" water main tee;						
	4129	complete as specified	Each	1.00	\$1,150.00	\$1,150.00	\$1,200.00	\$1,200.0
		Furnish and install 8" x 8"						
		water main cross;						
	4189	complete as specified	Each	3.00	\$1,000.00	\$3,000.00	\$1,050.00	\$3,150.0
		Furnish and install 8" 11-			. ,			. , , , , , , , , , , , , , , , , , , ,
		1/4 degree water main						
		bend; complete as						
	4219	specified	Each	1.00	\$450.00	\$450.00	\$410.00	\$410.0
	1217	Furnish and install 8" 22-	Euch	1.00	φ100.00	\$100.00	Ψ110.00	ψ110.0
		1/2 degree water main						
		bend; complete as						
	4228	specified	Each	2.00	\$470.00	\$940.00	\$425.00	\$850.0
	4220	Furnish and install 4" 45	EdCII	2.00	\$470.00	\$940.00	\$423.00	\$650.0
		degree water main bend;						
	4235		T. J.	F 00	¢250.00	¢1 250 00	#225.00	¢1 10F 0
	4233	complete as specified Furnish and install 6" 45	Each	5.00	\$250.00	\$1,250.00	\$225.00	\$1,125.0
	1006	degree water main bend;	т. 1	20.00	#220.00	#0.240.00	#215.00	#0.0 2 0.0
	4236	complete as specified	Each	28.00	\$330.00	\$9,240.00	\$315.00	\$8,820.0
		Furnish and install 8" 45						
		degree water main bend;						
	4237	complete as specified	Each	10.00	\$420.00	\$4,200.00	\$430.00	\$4,300.0
		Furnish and install 8"						
		water main cap; complete						
	4255	as specified	Each	1.00	\$275.00	\$275.00	\$275.00	\$275.0
		Furnish and install 8" x 4"						
		water main reducer;						
	4263	complete as specified	Each	1.00	\$400.00	\$400.00	\$340.00	\$340.0
<u> </u>		Furnish and install 8" x 6"	<u> </u>					<u> </u>
		water main reducer;						
	4264	complete as specified	Each	6.00	\$420.00	\$2,520.00	\$365.00	\$2,190.0

Contract 23-02 - West Linco	In Avenue and M	IcKinley Street Reconstructi	on (#8380709)	Ι Ι				
Owner: Oshkosh WI, City o		I I						
olicitor: Oshkosh WI, City								
onenon Oshkosh vvi, en	1							
id Opening: 02/20/2023 11	1:00 AM CST							
1d Opening: 02/20/2025 11	1:00 AWI C31							
					C-1P	- Count Co. Inc.	Instant Burth	T
					Carl Bowers & Son		Jossart Broth	iers, inc.
					N1844 Malo	·		
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Cut and cap existing 4"						
		water main; complete as						
	4350	specified	Each	2.00	\$800.00	\$1,600.00	\$1,250.00	\$2,500.0
		Cut and cap existing 6"						
		water main; complete as						
	4352	specified	Each	2.00	\$800.00	\$1,600.00	\$1,500.00	\$3,000.0
		Cut and cap existing 8"						
		water main; complete as						
	4354	specified	Each	2.00	\$900.00	\$1,800.00	\$1,750.00	\$3,500.0
		Furnish and install 6"						
		water main gate valve;						
	4401	complete as specified	Each	5.00	\$2,050.00	\$10,250.00	\$2,100.00	\$10,500.0
		Furnish and install 8"						
		water main gate valve;						
	4402	complete as specified	Each	20.00	\$2,900.00	\$58,000.00	\$3,075.00	\$61,500.0
		Furnish and install 12"						
		water main gate valve;						
	4404	complete as specified	Each	2.00	\$5,000.00	\$10,000.00	\$5,200.00	\$10,400.0
		Furnish and install						
		hydrant; complete as						
	4500	specified	Each	4.00	\$5,800.00	\$23,200.00	\$5,700.00	\$22,800.0
		Furnish and install 2"						
		water main casing pipe;						
	4712	complete as specified	Linear Feet	110.00	\$125.00	\$13,750.00	\$80.00	\$8,800.0
		Rock excavation;						
	4800	complete as specified	Cubic Yards	25.00	\$0.10	\$2.50	\$0.01	\$0.2
		Remove water main;						
	4920	complete as specified	Linear Feet	602.00	\$25.00	\$15,050.00	\$32.00	\$19,264.
		Furnish and install pull						
		box (non-conductive); 18"						
		x 36"; complete as						
	5013	specified	Each	23.00	\$1,750.00	\$40,250.00	\$1,837.50	\$42,262.
		Furnish and install pull				·	• •	· · · · · · · · · · · · · · · · · · ·
		box - non-conductive; 24"						
		x 42"; complete as						
	5019	specified	Each	12.00	\$1,850.00	\$22,200.00	\$1,942.50	\$23,310.0
		Adjust pull box; complete			4-,550.00	+==,=====	4-/	4_0 /010.
	5025	as specified	Each	33.00	\$5.00	\$165.00	\$5.25	\$173.
	3020	Install CITY-supplied	Ducii.	55.50	ψο.σο	Ψ100.00	φο.20	ψ175
		lighting control cabinet;						
	5051	complete as specified	Each	1.00	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.0

Contract 23-02 - West Linco	In Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Solicitor. Oshikosh 111, City	1							
Bid Opening: 02/20/2023 11	1:00 AM CST							
bid Opening. 02/20/2023 11	1.00 AWI C31							
					Carl Danisana & Ca	one Const Co. Inc.	Lacart Pro	thana Tara
					Carl Bowers & So		Jossart Bro	tners, Inc.
					N1844 Mal	•		
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Install CITY-supplied						
		fully-actuated 8-phase						
		traffic signal control						
		cabinet; complete as						
	5053	specified	Each	1.00	\$2,000.00	\$2,000.00	\$2,100.00	\$2,100.00
		Install electrical service;						
	5054	complete as specified	Each	2.00	\$2,250.00	\$4,500.00	\$2,362.50	\$4,725.00
		Remove and preserve						
		light poles; bases; and						
		lighting fixtures;						
	5056	complete as specified	Lump Sum	1.00	\$7,500.00	\$7,500.00	\$7,875.00	\$7,875.00
		Furnish and install 2"						
		Schedule 40 PVC;						
	5120	complete as specified	Linear Feet	65.00	\$10.00	\$650.00	\$10.50	\$682.50
		Furnish and install 3"						
		Schedule 40 PVC;						
	5130	complete as specified	Linear Feet	3,285.00	\$14.00	\$45,990.00	\$14.70	\$48,289.50
		3" Schedule 40 PVC bore;						·
		including bore pits and						
		utility line openings;						
	5170	complete as specified	Linear Feet	640.00	\$35.00	\$22,400.00	\$36.75	\$23,520.00
		Furnish and install 6			·		·	· ,
		gauge red-coated wire;						
	5240	complete as specified	Linear Feet	3,800.00	\$1.40	\$5,320.00	\$1.47	\$5,586.00
		Furnish and install 6			42120	4-/	*****	40,0000
		gauge black-coated wire;						
	5241	complete as specified	Linear Feet	3,800.00	\$1.40	\$5,320.00	\$1.47	\$5,586.00
	0211	Furnish and install 8	_mear rect	2,000.00	ψ1.10	\$5,520.00	ψ1.17	\$5,000.00
		gauge green-coated wire;						
	5252	complete as specified	Linear Feet	3,200.00	\$1.50	\$4,800.00	\$1.58	\$5,056.00
	3232	Furnish and install 10	Zmeur reet	5,200.00	ψ1.50	φ1,000.00	Ψ1.50	φο,000.00
		gauge red-coated wire;						
	5260	complete as specified	Linear Feet	250.00	\$0.90	\$225.00	\$0.95	\$237.5
	3200	Furnish and install 10	Linear rect	250.00	φ0.90	Ψ223.00	φ0.93	\$237.30
		gauge black-coated wire;						
	5261	complete as specified	Linear Feet	250.00	\$0.90	\$225.00	\$0.95	\$237.5
	3201	Furnish and install 10	ьшеаг геет	250.00	\$0.90	\$225.00	\$0.95	\$237.30
	52/2	gauge green-coated wire;	Linnar	900.00	#0.00	#F00.00	40.05	@#Z0.00
	5262	complete as specified	Linear Feet	800.00	\$0.90	\$720.00	\$0.95	\$760.00

Contract 23-02 - West Lincol	In Avenue and M	cKinley Street Reconstruction	on (#8380709)					
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City		 						
Solicitor. Oshkosh vvi, City								
Bid Opening: 02/20/2023 11:	.00 AM CST	+		+				
Did Opening. 02/20/2023 11:	.00 AW C31			-				
				.	G 1P 4.6	6 16 1		,1 T
					Carl Bowers & So		Jossart Bro	thers, Inc.
					N1844 Mal	-		
					Kaukauna,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 12						
		gauge red-coated wire;						
	5270	complete as specified	Linear Feet	860.00	\$0.80	\$688.00	\$0.84	\$722.40
		Furnish and install 12						
		gauge black-coated wire;						
	5271	complete as specified	Linear Feet	860.00	\$0.80	\$688.00	\$0.84	\$722.40
		Furnish and install 12						
		gauge green-coated wire;						
	5272	complete as specified	Linear Feet	860.00	\$0.80	\$688.00	\$0.84	\$722.40
		Furnish and install 14			·	-	·	<u> </u>
		gauge green-coated wire;						
	5282	complete as specified	Linear Feet	150.00	\$1.00	\$150.00	\$1.05	\$157.50
	5202	Furnish and install 4 pair	Efficul Feet	150.00	φ1.00	\$100.00	φ1.00	ψ107.00
		shielded CAT5; complete						
	5300	as specified	Linear Feet	350.00	\$2.00	\$700.00	\$2.10	\$735.00
	3300	Furnish and install 14	Linear reet	330.00	\$2.00	\$700.00	\$2.10	\$733.00
		gauge stranded single						
	5057	pair twisted with shield;	T. F.	075.00	41.75	#1 F01 0F	#1.04	#1 (10 00
	5356	complete as specified	Linear Feet	875.00	\$1.75	\$1,531.25	\$1.84	\$1,610.00
		Furnish and install 14						
		AWG solid 3 conductor;						
	5360	complete as specified	Linear Feet	150.00	\$2.00	\$300.00	\$2.10	\$315.00
		Furnish and install 14						
		AWG solid 5 conductor;						
	5362	complete as specified	Linear Feet	420.00	\$2.50	\$1,050.00	\$2.63	\$1,104.60
		Furnish and install 14						
		AWG solid 21 conductor;						
	5372	complete as specified	Linear Feet	1,600.00	\$4.75	\$7,600.00	\$5.00	\$8,000.00
		Furnish and install fuse						
		holder; complete as						
	5380	specified	Each	42.00	\$55.00	\$2,310.00	\$57.75	\$2,425.50
		Furnish and install 2A						
		fuse; complete as						
	5386	specified	Each	42.00	\$5.00	\$210.00	\$5.25	\$220.50
		Install CITY-supplied 10'			·	·	·	·
		traffic signal pole with a						
		pedestal base, complete						
	5420	as specified	Each	8.00	\$250.00	\$2,000.00	\$262.50	\$2,100.00
	3420	as specified	Lacii	0.00	Ψ250.00	Ψ2,000.00	ψ202.50	Ψ2,100.00

Contract 23-02 - West Linco	oln Avenue and M	cKinley Street Reconstructio	n (#8380709)					
Owner: Oshkosh WI, City		I	(
olicitor: Oshkosh WI, City								
oneron oshkosh vvi, en	1							
id Opening: 02/20/2023 11	1:00 AM CST							
14 opening. 02/20/2020 12								
					Carl Bowers & Sons	s Const Co. Inc	Jossart Broth	are Inc
		+		1	N1844 Malon		jossait Biotic	c15, 111C.
		+		1	Kaukauna, V	,		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem code	Install CITY-supplied 13'	COLVI	Quantity	Oint Frice	Extension	OIII THEE	Extension
		traffic signal pole with a						
		decorative base; complete						
	5421	as specified	Each	4.00	\$250.00	\$1,000.00	\$262.50	\$1,050.0
	3421	Install CITY-supplied 20'	EdCII	4.00	\$250.00	\$1,000.00	\$202.50	\$1,030.0
		traffic signal pole with a						
		pedestal base; complete						
	E424	as specified	Earle	1.00	¢==0.00	¢==0.00	¢577.50	¢=77 =
	5424	Install CITY-supplied 30'	Each	1.00	\$550.00	\$550.00	\$577.50	\$577.5
		traffic signal pole with a						
		transformer base;						
	5426		Earle	2.00	\$750.00	\$2,250.00	¢797 E0	¢2.262.E
	3426	complete as specified Install CITY-supplied 25'	Each	3.00	\$750.00	\$2,230.00	\$787.50	\$2,362.5
	F401	trombone arm; complete	E. J.	2.00	¢750.00	#2 250 00	#707 FO	#2.262.F
	5431	as specified Install CITY-supplied	Each	3.00	\$750.00	\$2,250.00	\$787.50	\$2,362.5
		three-section traffic signal						
		head; back plate; and						
		_						
	5404	LED modules; complete	г. 1	12.00	φ==0.00	#c coo oo	4577.50	# C 020 0
	5434	as specified Install CITY-supplied	Each	12.00	\$550.00	\$6,600.00	\$577.50	\$6,930.0
		pedestrian signal head						
	5400	with countdown timer;	г. 1	0.00	#250.00	#2 000 00	#2 <f 50<="" td=""><td>#2.040.C</td></f>	#2.040.C
	5438	complete as specified	Each	8.00	\$350.00	\$2,800.00	\$367.50	\$2,940.0
		Install CITY-supplied						
	=110	pedestrian push button;		0.00	#200.00	#4 500 00	4240.00	44 (00 (
	5440	complete as specified Install CITY-supplied 20'	Each	8.00	\$200.00	\$1,600.00	\$210.00	\$1,680.0
		1						
		tapered pole with						
	5.450	transformer base;	г. 1	10.00	φ==0.00	#10.450.00	4577.50	#10.0 50 .5
	5452	complete as specified Install CITY-supplied 10'	Each	19.00	\$550.00	\$10,450.00	\$577.50	\$10,972.5
	E4E0	truss-type luminaire arm;	Earl.	22.00	¢250.00	ф д доо оо	#2/F F0	#0.00F.0
	5458	complete as specified	Each	22.00	\$350.00	\$7,700.00	\$367.50	\$8,085.0
		Install CITY-supplied						
	F 450	cobra head luminaire;	E . J.	21.00	#200.00	#4. 2 00.00	#210.00	ΦA 440.0
	5470	complete as specified	Each	21.00	\$200.00	\$4,200.00	\$210.00	\$4,410.0
		Furnish and install Type 2						
		base; complete as	г.	44.00	04.450.00	240 400 62	04 000 50	***
	5502	specified	Each	16.00	\$1,150.00	\$18,400.00	\$1,207.50	\$19,320.0

Contract 23-02 - West Lincoln	Avenue and M	cKinley Street Reconstruct	ion (#8380709)					
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of	f							
Bid Opening: 02/20/2023 11:00	AM CST							
					Carl Bowers & So	ons Const Co. Inc.	Jossart Bro	thers, Inc.
					N1844 Mal	oney Road		
					Kaukauna,	, WI 54130		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install Type 5						
		base; complete as						
		specified	Each	20.00	\$975.00	\$19,500.00	\$1,023.75	\$20,475.00
		Furnish and install Type 9						
		base; complete as						
	5506	specified	Each	2.00	\$2,000.00	\$4,000.00	\$2,100.00	\$4,200.00
Bid Total:						\$4,036,254.95		\$4,168,111.10

Contract 23-02 - West Lincol	In Avenue and M	cKinley Street Reconstruct	ion (#8380709)					
Owner: Oshkosh WI, City o	_	<u> </u>						
Solicitor: Oshkosh WI, City								
Bid Opening: 02/20/2023 11:	:00 AM CST							
Bia Opening. 02/20/2020 11:	.0071117 CD1							
				+	Dorner	r Inc	PTS Contra	actors Inc
				+	Doniel	i iic.	115 COM	ictors, nic
	_			 				
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1				2	0 - 110 - 2 - 2 - 2	\$4,208,623.19		\$4,503,860.00
Section 1		Clearing; complete as				ψ1,200,020.13		ψ1,000,000.00
	1011	specified	Inch Diameter	390.00	\$40.10	\$15,639.00	\$11.00	\$4,290.00
	1011	Grubbing; complete as	men Diameter	370.00	φ40.10	ψ10,037.00	ψ11.00	ψ4,270.00
	1021	specified	Inch Diameter	390.00	\$21.10	\$8,229.00	\$32.00	\$12,480.00
	1021	Mobilization; complete as	men Diameter	370.00	ψ21.10	Ψ0,227.00	ψ52.00	ψ12,400.00
	1050	specified	Lump Sum	1.00	\$195,053.00	\$195,053.00	\$290,155.89	\$290,155.89
	1030	Removing pavement;	Lump Jum	1.00	φ193,033.00	φ120,000.00	Ψ270,133.07	φΔ90,100.09
	1100	complete as specified	Square Yards	1,430.00	\$6.90	\$9,867.00	\$12.00	\$17,160.00
	1100	Removing curb and	Square rarus	1,430.00	\$0.50	\$7,007.00	ψ12.00	\$17,100.00
		gutter; complete as						
	1110	specified	Linear Feet	4,700.00	\$1.10	\$5,170.00	\$2.50	\$11,750.00
	1110	Removing concrete and	Linear reet	4,700.00	\$1.10	\$5,170.00	ψ2.50	\$11,750.00
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	34,300.00	\$0.70	\$24,010.00	\$0.68	\$23,324.00
	1120	Unclassified excavation;	Square reet	34,300.00	\$0.70	\$24,010.00	ψ0.08	\$25,524.00
	1200	complete as specified	Cubic Yards	4,400.00	\$19.00	\$83,600.00	\$20.00	\$88,000.00
	1200	Excavation special	Cubic Tarus	4,400.00	\$19.00	φου,000.00	Ψ20.00	\$60,000.00
		(paving); complete as						
	1220	specified	Tons	650.00	\$0.01	\$6.50	\$0.01	\$6.50
	1220	7" concrete pavement;	10115	650.00	\$0.01	Ф0.50	Φ0.01	Ф0.50
		with 5" CABC and						
	1	grading; complete as						
	1301	specified	Square Yards	7,300.00	\$51.10	\$373,030.00	\$49.00	\$357,700.00
	1301	7" concrete pavement	oquate raids	7,300.00	Ф 31.10	φ3/3 ₁ 030.00	\$49.00	\$307,700.00
	1	HES; with 5" CABC and						
		grading; complete as						
	1303	specified	Square Yards	1,160.00	\$71.80	\$83,288.00	\$53.20	\$61,712.00
	1303	7" concrete pavement	oquate ratus	1,100.00	Φ/ 1.0U	φου,200.00	 рээ.20	Ф01,/12.00
		HES removal and						
	1	replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		0						
		grading; turf restoration;						
	1200	and traffic control;		1	, per	405 501.00		
	1309	complete as specified	Square Yards	470.00	\$79.80	\$37,506.00	\$101.30	\$47,611.00

Contract 23-02 - West Linco	oln Avenue and M	IcKinley Street Reconstructi	ion (#8380709)					
Owner: Oshkosh WI, City		,	<u> </u>					
Solicitor: Oshkosh WI, City								
Bid Opening: 02/20/2023 11	1:00 AM CST							
1 0								
					Dorne	r Inc.	PTS Contr	actors. Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		8" concrete pavement						
		HES; with 6" CABC and						
		grading; complete as						
	1313	specified	Square Yards	350.00	\$73.00	\$25,550.00	\$83.35	\$29,172.50
		8" concrete pavement						
		doweled; HES; with 6"						
		CABC and grading;						
	1315	complete as specified	Square Yards	95.00	\$79.40	\$7,543.00	\$87.55	\$8,317.25
		8" concrete pavement						
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1319	complete as specified	Square Yards	295.00	\$91.40	\$26,963.00	\$133.70	\$39,441.50
		Concrete pavement gaps;						
	1334	complete as specified	Each	3.00	\$1,290.00	\$3,870.00	\$1,050.00	\$3,150.00
		Concrete pavement				·	·	•
		approach slab; HES;						
	1335	complete as specified	Square Yards	110.00	\$164.30	\$18,073.00	\$268.00	\$29,480.00
		Crushed aggregate base			·	• •	·	· ,
		course; complete as						
	1340	specified	Tons	1,290.00	\$15.30	\$19,737.00	\$15.70	\$20,253.00
		Pavement ties; complete		,	,	, , , , , , , , , , , , , , , , , , , ,	1	, , , , , , , , , , , , , , , , , , , ,
	1350	as specified	Each	130.00	\$9.50	\$1,235.00	\$8.40	\$1,092.00
		Drilled dowel bars; 1";			,	, ,	***	, ,
	1352	complete as specified	Each	63.00	\$14.10	\$888.30	\$13.60	\$856.80
		Drilled dowel bars; 1 1/4";			,	,	1	,
	1354	complete as specified	Each	82.00	\$16.40	\$1,344.80	\$17.80	\$1,459.60
		Adjust manholes and					,	. ,
		inlets; complete as						
	1360	specified	Each	93.00	\$561.00	\$52,173.00	\$393.00	\$36,549.00
	1000	Turf restoration;		33.30	\$552.00	ψ0 2 ,1. 3.00	φ5,5.00	φου,ο 17.00
	1370	complete as specified	Square Yards	4,300.00	\$9.00	\$38,700.00	\$8.35	\$35,905.00
	10,0	Restore gravel	Square rurus	2,000.00	φ2.00	φοσ, σσ.σσ	ψ0.55	φοσ,200.00
		driveway/apron;						
	1372	complete as specified	Square Yards	230.00	\$25.30	\$5,819.00	\$21.00	\$4,830.00
	13/2	complete as specified	oquare rarus	250.00	φ25.30	φυ,019.00	φ21.00	φ4,030.00

		IcKinley Street Reconstructi	ion (#8380709)					
wner: Oshkosh WI, City	of							
olicitor: Oshkosh WI, Cit	y of							
d Opening: 02/20/2023 1	1:00 AM CST							
					Dorner	r Inc.	PTS Contra	ectors, Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	nem code	Cold weather covering	COLVI	Quantity	Oint Frice	Extension	ChitTitee	Extension
		(concrete pavement) -						
		-						
	1200	single visquine; complete	C V 1	1 420 00	#O 01	#14.00	# 0 10	#2.002
	1380	as specified	Square Yards	1,430.00	\$0.01	\$14.30	\$2.10	\$3,003.
		Up-charge for late season						
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	280.00	\$0.01	\$2.80	\$10.50	\$2,940.
		12" radius curb with 6"						
		CABC and grading;						
	1410	complete as specified	Linear Feet	800.00	\$16.50	\$13,200.00	\$15.75	\$12,600.
		30" curb and gutter; 7";						
		with 5" CABC and						
		grading; complete as						
	1440	specified	Linear Feet	300.00	\$39.80	\$11,940.00	\$49.25	\$14,775
		Sidewalk curb; complete						
	1460	as specified	Linear Feet	320.00	\$40.60	\$12,992.00	\$47.15	\$15,088.
		4" concrete sidewalk with						
		3" CABC and grading;						
	1500	complete as specified	Square Feet	15,900.00	\$7.60	\$120,840.00	\$8.65	\$137,535.
		6" concrete sidewalk/	•			-		•
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	15,500.00	\$9.10	\$141,050.00	\$9.70	\$150,350
		6" concrete sidewalk/	- 1		47120	4117,000.00	471.0	4-1-1/1-1
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	480.00	\$9.70	\$4,656.00	\$10.00	\$4,800
	1314	8" concrete sidewalk/	Square reet	400.00	\$9.70	\$4,030.00	\$10.00	Ψ4,000
		driveway/ramp with 3"						
		CABC and grading;						
	1520		Carra East	720.00	#12.70	фо 27 1 оо	¢10.25	ф7 Г ГГ
	1520	complete as specified 8" concrete sidewalk/	Square Feet	730.00	\$12.70	\$9,271.00	\$10.35	\$7,555
		The state of the s						
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1524	specified	Square Feet	350.00	\$12.90	\$4,515.00	\$11.10	\$3,885.
		6" concrete step; complete	_					
	1530	as specified	Square Feet	510.00	\$80.50	\$41,055.00	\$72.30	\$36,873.

Contract 23-02 - West Lincol	In Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City o		.,	, , , , , , , , , , , , , , , , , , , ,					
olicitor: Oshkosh WI, City								
, , ,								
id Opening: 02/20/2023 11:	:00 AM CST			1				
9								
					Dorne	r Inc.	PTS Contr	actors. Inc
							2 2 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	
Section Title	Item Code	Item Description	UofM	Overtites	Unit Price	Extension	Unit Price	Extension
Section Title	Hem Code	Curb ramp detectable	COLIVI	Quantity	Omt i nee	Extension	Oint Trice	Extension
		warning field						
		(natural/non-painted);						
	1540	complete as specified	Causano Ecot	480.00	\$39.30	\$18,864.00	\$33.50	\$16,080.0
	1540	No. 4 reinforcing rods -	Square Feet	460.00	\$39.30	\$10,004.00	\$33.30	\$10,000.0
		deformed; epoxy-coated;						
	1550		Linoar Foot	4,320.00	\$2.20	\$9,504.00	\$2.10	¢0.072.0
	1550	complete as specified Drilled No. 4 sidewalk tie	Linear Feet	4,320.00	\$2.20	\$7,3U4.UU	\$2.10	\$9,072.0
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	290.00	\$9.10	\$2,639.00	\$7.35	\$2,131.5
	1500	Cold weather covering	EdCII	290.00	\$9.10	\$2,037.00	φ7.33	Φ2,131.
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	5,100.00	\$0.30	\$1,530.00	\$0.90	\$4,590.0
	1300	Cold weather covering	Square reet	3,100.00	φ0.50	φ1,550.00	φ0.90	\$4,370.C
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	1,800.00	\$0.40	\$720.00	\$1.45	\$2,610.0
	1502	Cold weather covering	oquare reet	1,000.00	φ0.10	ψ/ 20.00	ψ1.10	Ψ2,010.
		(sidewalk) - double						
		visquine with 6" hay;						
	1584	complete as specified	Square Feet	1,800.00	\$0.40	\$720.00	\$2.55	\$4,590.
	1501	Up-charge for late season	oquare reet	1,000.00	φ0.10	ψ/ 20.00	Ψ2.00	ψ1,000.
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	95.00	\$10.60	\$1,007.00	\$26.00	\$2,470.
	1070	Furnish and install tree;	cubic rurus	35.00	Ψ10.00	ψ1,007.00	Ψ20.00	Ψ2,170.
	1600	complete as specified	Each	19.00	\$581.00	\$11,039.00	\$576.00	\$10,944.
	1000	Locate existing property	Zueri	15.00	\$501.00	\$11/00×100	φο, οισο	Ψ10/511.
		monuments; complete as						
	1650	specified	Each	18.00	\$50.00	\$900.00	\$50.00	\$900.
		Replace existing property			40000	4, 00,000	40000	4, 4,
		monuments; complete as						
	1652	specified	Each	18.00	\$61.00	\$1,098.00	\$60.00	\$1,080.0
	1002	Sawing existing		10.00	\$02.00	Ψ2,070.00	φοσ.σο	φ±/000.
		pavement; complete as						
	1700	specified	Linear Feet	1,230.00	\$1.80	\$2,214.00	\$3.00	\$3,690.0
	1,00	Sawing concrete		_,	\$2.00	Ψ2,211.00	φ3.00	ψ5,070.
		pavement full depth;						
	1710	complete as specified	Linear Feet	460.00	\$2.50	\$1,150.00	\$3.00	\$1,380.0

Contract 23-02 - West Linco	oln Avenue and M	IcKinley Street Reconstruct	ion (#8380709)					
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Solicitor. Oshikosh 111, Chy	1							
Bid Opening: 02/20/2023 11	1:00 AM CST							
- I - G								
					Dorne	er Inc.	PTS Contra	ictors. Inc
								,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Tack coat; complete as						
	1900	specified	Gallons	45.00	\$8.30	\$373.50	\$8.00	\$360.00
		4" asphaltic pavement LT						
		with 10" CABC and						
		grading; complete as						
	1906	specified	Square Yards	50.00	\$87.90	\$4,395.00	\$87.75	\$4,387.50
		4" asphaltic transition LT						<u></u>
		with 10" CABC and						
		grading; complete as						
	1911	specified	Square Yards	580.00	\$55.40	\$32,132.00	\$55.50	\$32,190.00
		4" asphaltic surface LT						
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	115.00	\$66.00	\$7,590.00	\$64.35	\$7,400.25
		2" asphaltic surface LT						
		with 6" CABC and						
		grading; complete as						
	1917	specified	Square Yards	100.00	\$50.70	\$5,070.00	\$49.15	\$4,915.00
		Asphaltic cold weather						
		paving; complete as						
	1918	specified	Square Yards	125.00	\$58.10	\$7,262.50	\$57.00	\$7,125.00
		Furnish and install 10"						
		storm sewer; complete as						
	2002	specified	Linear Feet	32.00	\$68.00	\$2,176.00	\$156.00	\$4,992.00
		Furnish and install 12"						
		storm sewer; complete as						
	2003	specified	Linear Feet	659.40	\$64.00	\$42,201.60	\$91.00	\$60,005.40
		Furnish and install 15"						
		storm sewer; complete as						
	2006	specified	Linear Feet	307.90	\$67.00	\$20,629.30	\$93.00	\$28,634.70
		Furnish and install 18"						
		storm sewer; complete as						
	2009	specified	Linear Feet	289.20	\$78.00	\$22,557.60	\$100.00	\$28,920.00
		Furnish and install 24"						
		storm sewer; complete as						
	2015	specified	Linear Feet	158.00	\$118.00	\$18,644.00	\$124.00	\$19,592.00
		Furnish and install 27"						
		storm sewer; complete as	·					
	2018	specified	Linear Feet	140.00	\$143.00	\$20,020.00	\$156.00	\$21,840.00

Contract 23-02 - West Linco	In Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
	,							
Bid Opening: 02/20/2023 11	1:00 AM CST							
1 0								
					Dorner I	Inc.	PTS Contrac	ctors, Inc
								,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 36"						
		storm sewer; complete as						
	2024	specified	Linear Feet	178.90	\$145.00	\$25,940.50	\$152.00	\$27,192.80
		Furnish and install 42"						
		storm sewer; complete as						
	2027	specified	Linear Feet	197.60	\$180.00	\$35,568.00	\$196.00	\$38,729.60
		Furnish and install 48"						
		storm sewer; complete as						
	2030	specified	Linear Feet	926.90	\$222.00	\$205,771.80	\$236.00	\$218,748.40
		Furnish and install 24" x						
		38" HERCP Class III						
		storm sewer; complete as						
	2049	specified	Linear Feet	331.40	\$150.00	\$49,710.00	\$168.00	\$55,675.20
		Furnish and install						
		standard storm sewer						
		manhole (2' diameter);						
	2200	complete as specified	Vertical Feet	3.29	\$450.00	\$1,480.50	\$384.00	\$1,263.36
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	53.95	\$704.00	\$37,980.80	\$604.00	\$32,585.80
		Furnish and install						
		standard storm sewer						
		manhole (5' diameter);						
	2202	complete as specified	Vertical Feet	1.00	\$936.00	\$936.00	\$1,085.00	\$1,085.00
		Furnish and install						
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	32.76	\$1,314.00	\$43,046.64	\$990.00	\$32,432.40
		Furnish and install						
		standard storm sewer						
		manhole (7' diameter);						
	2204	complete as specified	Vertical Feet	28.76	\$1,372.00	\$39,458.72	\$1,255.00	\$36,093.80
		Furnish and install						
		standard storm sewer						
		manhole (8' diameter);						
	2205	complete as specified	Vertical Feet	7.56	\$1,754.00	\$13,260.24	\$1,545.00	\$11,680.20

		cKinley Street Reconstructi	ON (#030U/U9)					
Owner: Oshkosh WI, City of	1	T	, , , , , , , , , , , , , , , , , , , ,					
Solicitor: Oshkosh WI, City o								
Solicitor. Oshkosh vvi, City o	<u>-</u>							
Bid Opening: 02/20/2023 11:00	0 AM CST							
Did Opening. 02/20/2023 11:00	O AWI CSI							
 					Dorne	- I	PTS Contra	atawa Tu a
 					Dome	r inc.	r 15 Contra	ictors, inc
 								
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install		2				
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	19.43	\$833.00	\$16,185.19	\$660.00	\$12,823.80
	2210	Furnish and install Type 3	, erticul rect	17.10	φοσοιοσ	\$10,100.13	\$000.00	\$12,020.00
		inlet (with 18" sump);						
	2237	complete as specified	Each	41.00	\$2,983.00	\$122,303.00	\$2,465.00	\$101,065.00
	2237	Furnish and install 6"	Lacii	41.00	Ψ2,700.00	ψ122,303.00	Ψ2,403.00	ψ101,005.00
I		storm sewer lateral;						
I	2400	complete as specified	Linear Feet	1,258.00	\$54.00	\$67,932.00	\$74.00	\$93,092.00
	2400	Furnish and install 8"	Effical Teet	1,230.00	ψ34.00	φ07,752.00	ψ7 4 .00	ψ/5,072.00
1		storm sewer lateral;						
1	2402	complete as specified	Linear Feet	74.00	\$73.00	\$5,402.00	\$100.00	\$7,400.00
İ	2102	Furnish and install storm	Effect Feet	7 1.00	ψ/5.00	φο,102.00	\$100.00	ψ,,100.00
I		sewer marker balls;						
1	2404	complete as specified	Each	86.00	\$44.00	\$3,784.00	\$41.00	\$3,526.00
İ	2101	Furnish and install storm	Buch	00.00	ψ11.00	φο,/ 01.00	Ψ11.00	φ0,020.00
I		sewer clay dams;						
I	2406	complete as specified	Each	43.00	\$148.00	\$6,364.00	\$87.00	\$3,741.00
İ	2100	Furnish and install storm	Buch	15.00	ψ110.00	φ0,001.00	φον.ου	ψο, 11.00
I		sewer lateral inlet;						
	2408	complete as specified	Each	42.00	\$1,101.00	\$46,242.00	\$1,015.00	\$42,630.00
	2100	Storm lateral inlet	Buch	12.00	Ψ1,101.00	Ψ10,212.00	\$1,010.00	ψ12,000.00
		adjustments; complete as						
	2414	specified	Each	9.00	\$123.00	\$1,107.00	\$1.00	\$9.00
	2111	Furnish; install; maintain;	Zueri	3.00	\$1 2 0.00	\$1,107.00	Ψ1.00	ψ,,οο
		and remove Type D						
ı		modified inlet protection;						
l	2508	complete as specified	Each	67.00	\$116.00	\$7,772.00	\$89.00	\$5,963.00
		Sediment removal - Type	Dull!	07.00	φ110.00	ψ1,112.00	φον.00	ψ5,755.00
		D modified inlet						
		protection; complete as						
l	2510	specified	Each	4.00	\$26.00	\$104.00	\$6.00	\$24.00
	2010	Furnish; install; maintain;	LuCII	4.00	Ψ20.00	Ψ104.00	φ0.00	ψ24.00
		and remove stone bag;						
	2516	complete as specified	Each	130.00	\$16.00	\$2,080.00	\$11.00	\$1,430.00
	2510	Rock excavation;	Lacii	130.00	ψ10.00	Ψ2,000.00	ψ11.00	ψ1,400.00
1	2750	complete as specified	Cubic Yards	10.00	\$0.01	\$0.10	\$1.00	\$10.00

Contract 23-02 - West Lincol	In Avenue and M	IcKinlev Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
onenon Conkosh vvi, eny	1							
Bid Opening: 02/20/2023 11:	.00 AM CST			+				
Did Opening. 02/20/2025 11.	.00 AW C31							
				-	Dorne	To a	PTS Contr	astono Tura
					Dorne	er inc.	P15 Contr	actors, Inc
				 				
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Hem Code	Abandon 8" - 12" storm	COLIVI	Qualitity	Chit i lice	Extension	Onit i fice	Extension
		sewer; complete as						
	2000	-	Limona Foot	160.00	¢6.00	¢1 014 00	¢1E 00	¢2 =2= 00
	2800	specified Abandon 15" and larger	Linear Feet	169.00	\$6.00	\$1,014.00	\$15.00	\$2,535.00
		o l						
	2002	storm sewer; complete as	T. F.	10.00	#20.00	#200 00	#215 00	#2.150.00
	2802	specified	Linear Feet	10.00	\$30.00	\$300.00	\$215.00	\$2,150.00
		Remove 30" and smaller						
	2004	storm sewer; complete as		5 07.50	#20.00	****	#20.00	****
	2804	specified	Linear Feet	786.50	\$28.00	\$22,022.00	\$28.00	\$22,022.00
		Abandon storm sewer						
		manholes and inlets;						
	2810	complete as specified	Each	1.00	\$285.00	\$285.00	\$580.00	\$580.00
		Remove storm sewer						
		manholes and inlets;						
	2812	complete as specified	Each	22.00	\$359.00	\$7,898.00	\$290.00	\$6,380.00
		Connect to existing storm						
		sewer main; complete as						
	2850	specified	Each	12.00	\$1,068.00	\$12,816.00	\$1,275.00	\$15,300.00
		Connect to existing storm						
		sewer lateral; complete as						
	2852	specified	Each	4.00	\$271.00	\$1,084.00	\$197.00	\$788.00
		Connect to existing storm						
		sewer manhole; complete						
	2856	as specified	Each	3.00	\$1,476.00	\$4,428.00	\$1,665.00	\$4,995.00
		Storm sewer utility line						
		opening (ULO); complete						
	2914	as specified	Each	3.00	\$1,722.00	\$5,166.00	\$1.00	\$3.00
		Excavation special						
		(storm); complete as						
	2950	specified	Tons	25.00	\$30.00	\$750.00	\$1.00	\$25.00
		Furnish and install 8"						
		sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	1,675.00	\$166.00	\$278,050.00	\$193.00	\$323,275.00
		Furnish and install 10"						
		sanitary sewer (relay);						
	3002	complete as specified	Linear Feet	570.00	\$295.00	\$168,150.00	\$235.00	\$133,950.00
		Furnish and install 12"						
		sanitary sewer (relay);						
	3004	complete as specified	Linear Feet	30.00	\$120.00	\$3,600.00	\$325.00	\$9,750.00

Contract 23-02 - West Lincoln	n Avenue and M	IcKinley Street Reconstruct	ion (#8380709)					
Owner: Oshkosh WI, City of		T i	<u></u>					
Solicitor: Oshkosh WI, City								
· · ·								
Bid Opening: 02/20/2023 11:	00 AM CST							
					Dorner	Inc.	PTS Contra	actors, Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Tien coue	Furnish and install 24"	001111	Quantity	CHR I IICC	Extension	Chitrice	Extension
		sanitary sewer (relay);						
	3012	complete as specified	Linear Feet	20.00	\$247.00	\$4,940.00	\$712.00	\$14,240.00
	0012	Furnish and install 8"	Zinear rect	20.00	\$217.00	\$ 1/5 10.00	ψ, 12.00	\$11/210.00
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	30.50	\$526.00	\$16,043.00	\$280.00	\$8,540.00
		Furnish and install 10"				. ,	·	· ,
		sanitary sewer drop;						
	3062	complete as specified	Vertical Feet	6.00	\$594.00	\$3,564.00	\$340.00	\$2,040.00
		Furnish and install						
		standard sanitary sewer						
		manhole (4' diameter);						
	3100	complete as specified	Vertical Feet	195.00	\$466.00	\$90,870.00	\$432.00	\$84,240.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	15.00	\$501.00	\$7,515.00	\$498.00	\$7,470.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal						
	2446	extension; complete as			#204.00	4702.00	#202.00	##O C OC
	3116	specified	Each	2.00	\$396.00	\$792.00	\$393.00	\$786.00
		Rebuild sanitary sewer						
	2126	manhole (4' diameter);	Mantial Fact	0.00	¢207.00	#1 0/2 00	#2.42.00	#2.0 7 0.00
	3136	complete as specified Pour and reshape	Vertical Feet	9.00	\$207.00	\$1,863.00	\$342.00	\$3,078.00
		manhole bench; complete						
	3160	as specified	Each	1.00	\$738.00	\$738.00	\$2,250.00	\$2,250.00
	3100	Furnish and install 8" x 6"	Lacii	1.00	\$730.00	ψ130.00	\$2,230.00	\$2,250.00
		sanitary sewer factory						
		wyes or tees; complete as						
	3210	specified	Each	36.00	\$284.00	\$10,224.00	\$200.00	\$7,200.00
	1	Furnish and install 10" x			4-0-000	4-0,22100	4-10.00	4.,_00.00
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3212	specified	Each	8.00	\$393.00	\$3,144.00	\$280.00	\$2,240.00
		Furnish and install 12" x						
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3214	specified	Each	1.00	\$556.00	\$556.00	\$408.00	\$408.00

Contract 23-02 - West Linco	oln Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City		,						
Solicitor: Oshkosh WI, City								
	,							
Bid Opening: 02/20/2023 11	1:00 AM CST							
1 0								
					Dorner	r Inc.	PTS Contra	actors, Inc
								,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"						
		sanitary sewer "Insert-A-						
		Tee" or "Kor-N-Tee";						
	3222	complete as specified	Each	3.00	\$593.00	\$1,779.00	\$372.00	\$1,116.00
I		Furnish and install 6"						
		sanitary sewer laterals						
		(new); complete as						
	3232	specified	Linear Feet	35.00	\$89.00	\$3,115.00	\$168.00	\$5,880.00
		Furnish and install 6"						
		sanitary sewer riser						
		(new); complete as						
	3233	specified	Linear Feet	9.00	\$173.00	\$1,557.00	\$165.00	\$1,485.00
		Furnish and install 4"/6"						
		sanitary sewer lateral						
	2224	(relay); complete as		4 500 00	#00.00	#40= <40.00	4425.00	# 2 04 445 00
	3234	specified Furnish and install 4"/6"	Linear Feet	1,529.00	\$90.00	\$137,610.00	\$135.00	\$206,415.00
		sanitary sewer riser						
	2225	(relay); complete as	LinconFoot	201.00	¢177.00	#2F 2F(00	#12F 00	#2F 12F 00
	3235	specified Furnish and install	Linear Feet	201.00	\$176.00	\$35,376.00	\$125.00	\$25,125.00
		sanitary sewer lateral						
	3236	marker balls; complete as	Each	98.00	\$44.00	\$4,312.00	\$41.00	¢4.019.00
	3236	specified Furnish and install clay	Eacn	96.00	\$44.00	\$4,312.00	\$41.00	\$4,018.00
		dams; complete as						
	3238	specified	Each	49.00	\$148.00	\$7,252.00	\$86.00	¢4.214.00
	3236	Furnish and install	Eacn	49.00	\$140.00	\$7,232.00	\$00.00	\$4,214.00
		connection to existing 10"						
		sanitary sewer mains;						
	3302	complete as specified	Each	1.00	\$5,074.00	\$5,074.00	\$1,235.00	\$1,235.00
	3302	Furnish and install	Lati	1.00	\$3,074.00	φυ ₁ 074.00	\$1,233.00	₽1,∠33.00
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	3.00	\$1,021.00	\$3,063.00	\$1,840.00	\$5,520.00
	3304	Furnish and install	Each	3.00	\$1,021.00	φ3,003.00	\$1,040.00	\$5,320.00
		connection to existing 24"						
		sanitary sewer mains;						
	3312		Each	2.00	\$1,866.00	\$3,732.00	\$3,490.00	\$6,980.00
	3312	complete as specified	Eacn	2.00	\$1,000.00	\$3,732.00	\$3,490.00	ა ნ,980.00

Contract 23-02 - West Linco	In Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
wner: Oshkosh WI, City o		1						
olicitor: Oshkosh WI, City								
, , ,								
id Opening: 02/20/2023 11	:00 AM CST							
<i>y</i>								
					Dorner l	Inc.	PTS Contra	ctors. Inc
					Bonier		115 contia	ctors, inc
o d mid				0 11	** ** **	- ·	77 to D.1	7.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		sanitary sewer concrete						
		collars; complete as					***	
	3330	specified	Each	1.00	\$585.00	\$585.00	\$1.00	\$1.
		Furnish and install 8"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3402	specified	Linear Feet	110.00	\$126.00	\$13,860.00	\$108.00	\$11,880.0
		Rock excavation;						
	3600	complete as specified	Cubic Yards	25.00	\$0.01	\$0.25	\$1.00	\$25.
		Closed circuit televising;						
	3700	complete as specified	Linear Feet	2,275.00	\$1.00	\$2,275.00	\$1.30	\$2,957.
		Closed circuit televising -						
		using push camera;						
	3710	complete as specified	Each	4.00	\$158.00	\$632.00	\$300.00	\$1,200.
		Abandon sanitary sewer						
		manholes; complete as						
	3800	specified	Each	2.00	\$512.00	\$1,024.00	\$580.00	\$1,160.
		Abandon 12" sanitary						
		sewer; complete as						
	3806	specified	Linear Feet	1,008.00	\$10.00	\$10,080.00	\$26.00	\$26,208.
		Remove sanitary sewer						
		manholes; complete as						
	3852	specified	Each	7.00	\$585.00	\$4,095.00	\$580.00	\$4,060.
		Remove sanitary sewer;						
	3854	complete as specified	Linear Feet	380.00	\$48.00	\$18,240.00	\$32.00	\$12,160.
		Sanitary sewer utility line						
		opening (ULO); complete						
	3890	as specified	Each	2.00	\$2,459.00	\$4,918.00	\$1.00	\$2.
		Furnish and install 4"						
		ductile iron water main						
		(relay) with polywrap;						
	4000	complete as specified	Linear Feet	30.00	\$122.00	\$3,660.00	\$212.00	\$6,360.
		Furnish and install 6"						
		ductile iron water main						
		(relay) with polywrap;						
	4002	complete as specified	Linear Feet	215.00	\$112.00	\$24,080.00	\$139.00	\$29,885.
		Furnish and install 8"						·
		ductile iron water main						
		(relay) with polywrap;						
	4004	complete as specified	Linear Feet	2,570.00	\$117.00	\$300,690.00	\$125.00	\$321,250.0

Contract 23-02 - West Lincoln	n Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City of	_							
Solicitor: Oshkosh WI, City								
,								
Bid Opening: 02/20/2023 11:0	00 AM CST							
	1							
					Dorne	r Inc	PTS Contra	actors Inc
					Donie	i inc.	T 15 Conti	ictors, nic
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 12"		~				
		ductile iron water main						
		(relay) with polywrap;						
	4008	complete as specified	Linear Feet	12.00	\$209.00	\$2,508.00	\$468.00	\$5,616.0
	1000	Furnish and install 1"	Zinear reet	12.00	φ203.00	\$2,000.00	Ψ100.00	40,010.0
		water service (relay);						
	4036	complete as specified	Linear Feet	1,227.00	\$74.00	\$90,798.00	\$111.00	\$136,197.0
		Furnish and install 1-1/4"		-,22, 100	ψ, 1.00	Ψ, 0,,, , 5.00	ψ111.00	\$100,177.0t
		water service (relay);						
	4037	complete as specified	Linear Feet	70.00	\$77.00	\$5,390.00	\$113.00	\$7,910.0
		Furnish and install 2"			4.1.00	40,010.00	Ų	4.7.200
		water service (relay);						
	4040	complete as specified	Linear Feet	28.00	\$90.00	\$2,520.00	\$186.00	\$5,208.0
		Furnish and install 1"			410100	4-/	420000	40,2000
		corporation and stop box;						
	4048	complete as specified	Each	40.00	\$559.00	\$22,360.00	\$552.00	\$22,080.00
		Furnish and install 1-1/4"			4447100	4=-/	400=100	4-2/******
		corporation and stop box;						
	4050	complete as specified	Each	2.00	\$1,120.00	\$2,240.00	\$1,115.00	\$2,230.0
		Furnish and install 2"			, ,	, ,	, ,	1,7
		corporation and stop box;						
	4053	complete as specified	Each	1.00	\$1,570.00	\$1,570.00	\$1,845.00	\$1,845.0
		Furnish and install water			4-/0.000	4-/01 0100	4-/0-20100	4-/0
		service clay dams;						
	4055	complete as specified	Each	43.00	\$148.00	\$6,364.00	\$86.00	\$3,698.0
		Furnish and install			4-2000	+0,000=100	40000	40,01010
		connections to existing 4"						
		water main; complete as						
	4056	specified	Each	1.00	\$1,327.00	\$1,327.00	\$1,655.00	\$1,655.0
		Furnish and install			, ,,,	, ,,,	, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		connections to existing 6"						
		water main; complete as						
	4058	specified	Each	6.00	\$1,658.00	\$9,948.00	\$2,025.00	\$12,150.0
		Furnish and install			, ,	4.7.	, ,,	, ,
		connections to existing 8"						
		water main; complete as						
	4060	specified	Each	2.00	\$2,070.00	\$4,140.00	\$2,720.00	\$5,440.0
		Furnish and install			4-,0.000	4-73100	4-73100	4-,-10.0
	1	connections to existing						
		12" water main; complete						
	4064	as specified	Each	2.00	\$2,131.00	\$4,262.00	\$3,625.00	\$7,250.00

Contract 23-02 - West Linco	oln Avenue and M	cKinley Street Reconstruction	on (#8380709)					
Owner: Oshkosh WI, City								
olicitor: Oshkosh WI, Cit								
,	, -							
id Opening: 02/20/2023 1	1:00 AM CST							
1 0								
				+	Dorner 1	Inc.	PTS Contract	tors, Inc
								,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6" x 6"						
		water main tee; complete						
	4101	as specified	Each	1.00	\$632.00	\$632.00	\$538.00	\$538.0
		Furnish and install 8" x 6"						
		water main tee; complete						
	4110	as specified	Each	4.00	\$839.00	\$3,356.00	\$708.00	\$2,832.0
		Furnish and install 8" x 8"						
		water main tee; complete						
	4111	as specified	Each	2.00	\$857.00	\$1,714.00	\$725.00	\$1,450.0
		Furnish and install 12" x						
		8" water main tee;						
	4129	complete as specified	Each	1.00	\$1,319.00	\$1,319.00	\$1,160.00	\$1,160.0
		Furnish and install 8" x 8"						
		water main cross;						
	4189	complete as specified	Each	3.00	\$1,174.00	\$3,522.00	\$1,025.00	\$3,075.0
		Furnish and install 8" 11-						
		1/4 degree water main						
		bend; complete as						
	4219	specified	Each	1.00	\$504.00	\$504.00	\$412.00	\$412.0
		Furnish and install 8" 22-						
		1/2 degree water main						
		bend; complete as						
	4228	specified	Each	2.00	\$523.00	\$1,046.00	\$430.00	\$860.0
		Furnish and install 4" 45						
		degree water main bend;						
	4235	complete as specified	Each	5.00	\$307.00	\$1,535.00	\$252.00	\$1,260.0
		Furnish and install 6" 45						
		degree water main bend;						
	4236	complete as specified	Each	28.00	\$395.00	\$11,060.00	\$334.00	\$9,352.0
		Furnish and install 8" 45						
		degree water main bend;						
	4237	complete as specified	Each	10.00	\$527.00	\$5,270.00	\$434.00	\$4,340.0
		Furnish and install 8"						
		water main cap; complete						
	4255	as specified	Each	1.00	\$319.00	\$319.00	\$257.00	\$257.0
		Furnish and install 8" x 4"						
		water main reducer;						
	4263	complete as specified	Each	1.00	\$415.00	\$415.00	\$353.00	\$353.0
		Furnish and install 8" x 6"						
		water main reducer;						
	4264	complete as specified	Each	6.00	\$466.00	\$2,796.00	\$377.00	\$2,262.0

Contract 23-02 - West Linco	In Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City o		I I	(1				
olicitor: Oshkosh WI, City								
onenon connoun vii, en	1							
id Opening: 02/20/2023 11	-00 AM CST							
14 Opening. 02/20/2020 11	1.00 1111 CS1							
					Dorner I	inc.	PTS Contract	ore Inc
	+			1	Domeri	iic.	113 Contract	015, 1110
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Cut and cap existing 4"		2				
		water main; complete as						
	4350	specified	Each	2.00	\$728.00	\$1,456.00	\$1,265.00	\$2,530.0
	1550	Cut and cap existing 6"	Euch	2.00	ψ/ 20.00	ψ1,130.00	Ψ1,200.00	Ψ2,000.0
		water main; complete as						
	4352	specified	Each	2.00	\$907.00	\$1,814.00	\$1,604.00	\$3,208.0
	1002	Cut and cap existing 8"	Euch	2.00	Ψ>07.00	Ψ1,011.00	Ψ1,001.00	φο,200.0
		water main; complete as						
	4354	specified	Each	2.00	\$1,106.00	\$2,212.00	\$1,965.00	\$3,930.0
	4554	Furnish and install 6"	Each	2.00	\$1,100.00	Ψ2,212.00	\$1,700.00	ψ5,750.0
		water main gate valve;						
	4401	complete as specified	Each	5.00	\$2,104.00	\$10,520.00	\$1,965.00	\$9,825.0
	4401	Furnish and install 8"	EdCII	5.00	\$2,104.00	\$10,320.00	\$1,965.00	\$7,623.0
		water main gate valve;						
	4402	complete as specified	Each	20.00	\$3,031.00	\$60,620.00	\$2,805.00	\$56,100.0
	4402	Furnish and install 12"	EdCII	20.00	\$5,051.00	\$60,620.00	\$2,803.00	\$30,100.0
		water main gate valve;						
	4404	complete as specified	Each	2.00	\$5,136.00	\$10,272.00	\$4,895.00	\$9,790.0
	4404	Furnish and install	EdCII	2.00	\$5,150.00	\$10,272.00	\$4,893.00	\$7,730.0
		hydrant; complete as						
	4500	specified	Each	4.00	\$6,023.00	\$24,092.00	\$5,725.00	\$22,900.0
	4500	Furnish and install 2"	EdCII	4.00	\$6,023.00	\$24,092.00	\$3,723.00	\$22,900.0
		water main casing pipe;						
	4712		Linear Feet	110.00	\$107.00	\$11,770.00	\$35.00	\$3,850.
	4/12	complete as specified Rock excavation;	Linear reet	110.00	\$107.00	\$11,770.00	\$33.00	\$3,000.
	4800	complete as specified	Cubic Yards	25.00	\$0.01	\$0.25	\$1.00	\$25.0
	4000	Remove water main;	Cubic Tarus	25.00	\$0.01	\$0.23	\$1.00	ΦZ3.0
	4920	complete as specified	Linear Feet	602.00	\$40.00	\$24,080.00	\$33.00	\$19,866.
	4920	Furnish and install pull	Linear reet	602.00	\$ 4 0.00	\$24,000.00	\$33.00	\$19,000.
		box (non-conductive); 18"						
		x 36"; complete as						
	5013	specified	Each	23.00	\$1,848.00	\$42,504.00	\$1,833.00	\$42,159.0
	3013	Furnish and install pull	Eacri	25.00	\$1,040.00	\$42,304.00	\$1,833.00	Φ42,139.
		box - non-conductive; 24"						
		x 42"; complete as						
	5019	specified	Each	12.00	\$1,953.00	\$23,436.00	\$1,938.00	\$23,256.0
	3017	Adjust pull box; complete	EdCII	12.00	\$1,753.00	\$43,430.00	\$1,730.00	φ ∠ 3, ∠ 36.0
	5025	as specified	Each	33.00	\$5.00	\$165.00	\$1.00	\$33.0
	3023	Install CITY-supplied	EdCII	33.00	φ3.00	\$105.00	Ф1.00	\$33.0
		lighting control cabinet;						
	5051	complete as specified	Each	1.00	\$2,112.00	\$2,112.00	\$2,095.00	\$2,095.0

Contract 23-02 - West Linco	In Avenue and M	IcKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City o		1	, , , , , , , , , , , , , , , , , , , ,					
Solicitor: Oshkosh WI, City								
Solicitor. Oshikosh 111, City	1							
Bid Opening: 02/20/2023 11	1:00 AM CST							
Dia Opening. 02/20/2020 11	1.00 11.01 CO 1							
					Dorne	ar Inc	PTS Contra	actors Inc
					Donie	i inc.	115 Contra	actors, mc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Install CITY-supplied						
		fully-actuated 8-phase						
		traffic signal control						
		cabinet; complete as						
	5053	specified	Each	1.00	\$2,112.00	\$2,112.00	\$2,095.00	\$2,095.00
		Install electrical service;						
	5054	complete as specified	Each	2.00	\$2,375.00	\$4,750.00	\$2,357.00	\$4,714.00
		Remove and preserve						
		light poles; bases; and						
		lighting fixtures;						
	5056	complete as specified	Lump Sum	1.00	\$7,918.00	\$7,918.00	\$7,860.00	\$7,860.00
		Furnish and install 2"						
		Schedule 40 PVC;						
	5120	complete as specified	Linear Feet	65.00	\$10.60	\$689.00	\$11.00	\$715.00
		Furnish and install 3"						
		Schedule 40 PVC;						
	5130	complete as specified	Linear Feet	3,285.00	\$14.80	\$48,618.00	\$15.00	\$49,275.00
		3" Schedule 40 PVC bore;						
		including bore pits and						
		utility line openings;						
	5170	complete as specified	Linear Feet	640.00	\$37.00	\$23,680.00	\$37.00	\$23,680.00
		Furnish and install 6						
		gauge red-coated wire;						
	5240	complete as specified	Linear Feet	3,800.00	\$1.50	\$5,700.00	\$1.50	\$5,700.00
		Furnish and install 6						
		gauge black-coated wire;						
	5241	complete as specified	Linear Feet	3,800.00	\$1.50	\$5,700.00	\$1.50	\$5,700.00
		Furnish and install 8						
		gauge green-coated wire;						
	5252	complete as specified	Linear Feet	3,200.00	\$1.60	\$5,120.00	\$1.60	\$5,120.00
		Furnish and install 10						
		gauge red-coated wire;						
	5260	complete as specified	Linear Feet	250.00	\$1.00	\$250.00	\$0.95	\$237.50
		Furnish and install 10						
		gauge black-coated wire;						
	5261	complete as specified	Linear Feet	250.00	\$1.00	\$250.00	\$0.95	\$237.50
		Furnish and install 10						
		gauge green-coated wire;						
	5262	complete as specified	Linear Feet	800.00	\$1.00	\$800.00	\$0.95	\$760.00

Contract 23-02 - West Linco	In Avenue and M	IcKinley Street Reconstruction	on (#8380709)					
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Solicitor. Oslikosii 111, City								
Bid Opening: 02/20/2023 11	.00 AM CST	+						
Did Opening. 02/20/2025 11	.00 AW C31			-				
						-	POTE C	
					Dorner	r Inc.	PTS Contra	ictors, Inc
C C TIL	Ti C 1	T. D	11.04	0 111	TI 's D '	F	77 'CD'	F
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 12						
		gauge red-coated wire;						
	5270	complete as specified	Linear Feet	860.00	\$0.80	\$688.00	\$0.85	\$731.00
		Furnish and install 12						
		gauge black-coated wire;						
	5271	complete as specified	Linear Feet	860.00	\$0.80	\$688.00	\$0.85	\$731.00
		Furnish and install 12						
		gauge green-coated wire;						
	5272	complete as specified	Linear Feet	860.00	\$0.80	\$688.00	\$0.85	\$731.00
		Furnish and install 14			·	·		·
		gauge green-coated wire;						
	5282	complete as specified	Linear Feet	150.00	\$1.10	\$165.00	\$1.05	\$157.50
	3202	Furnish and install 4 pair	Ellicai Teet	130.00	ψ1.10	\$105.00	ψ1.03	ψ107.50
		shielded CAT5; complete						
	F200	- 1	I to To at	250.00	¢2.10	#72F 00	#2.10	#72F 00
	5300	as specified Furnish and install 14	Linear Feet	350.00	\$2.10	\$735.00	\$2.10	\$735.00
		1						
		gauge stranded single						
		pair twisted with shield;						
	5356	complete as specified	Linear Feet	875.00	\$1.80	\$1,575.00	\$1.85	\$1,618.75
		Furnish and install 14						
		AWG solid 3 conductor;						
	5360	complete as specified	Linear Feet	150.00	\$2.10	\$315.00	\$2.10	\$315.00
		Furnish and install 14						
		AWG solid 5 conductor;						
	5362	complete as specified	Linear Feet	420.00	\$2.60	\$1,092.00	\$2.60	\$1,092.00
		Furnish and install 14						
		AWG solid 21 conductor;						
	5372	complete as specified	Linear Feet	1,600.00	\$5.00	\$8,000.00	\$5.00	\$8,000.00
		Furnish and install fuse		-,	77100	40,000.00	44100	40,00000
		holder; complete as						
	5380	specified	Each	42.00	\$58.00	\$2,436.00	\$58.00	\$2,436.00
	3300	Furnish and install 2A	Eacii	42.00	φ36.00	Ψ2,430.00	φ36.00	ψ2,430.00
	1	fuse; complete as						
	F20/		T1.	42.00	¢= 00	ф 2 10.00	# C 00	#252.00
	5386	specified	Each	42.00	\$5.00	\$210.00	\$6.00	\$252.00
	1	Install CITY-supplied 10'						
	1	traffic signal pole with a						
		pedestal base, complete						
	5420	as specified	Each	8.00	\$264.00	\$2,112.00	\$262.00	\$2,096.00

		IcKinley Street Reconstructio	n (#8380709)					
wner: Oshkosh WI, City o								
olicitor: Oshkosh WI, City	of							
d Opening: 02/20/2023 11	:00 AM CST							
					Dorner I	nc.	PTS Contract	ors, Inc
C d Trid	Tr. C. 1	T. D	11.01	0 111	71. 'v D '	F	TI '(D '	F
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Install CITY-supplied 13'						
		traffic signal pole with a						
		decorative base; complete			*****	****		
	5421	as specified	Each	4.00	\$264.00	\$1,056.00	\$262.00	\$1,048.
		Install CITY-supplied 20'						
		traffic signal pole with a						
		pedestal base; complete						
	5424	as specified	Each	1.00	\$581.00	\$581.00	\$577.00	\$577
		Install CITY-supplied 30'						
		traffic signal pole with a						
		transformer base;						
	5426	complete as specified	Each	3.00	\$792.00	\$2,376.00	\$785.00	\$2,355
		Install CITY-supplied 25'						
		trombone arm; complete						
	5431	as specified	Each	3.00	\$792.00	\$2,376.00	\$785.00	\$2,355
		Install CITY-supplied						
		three-section traffic signal						
		head; back plate; and						
		LED modules; complete						
	5434	as specified	Each	12.00	\$581.00	\$6,972.00	\$577.00	\$6,924
		Install CITY-supplied						
		pedestrian signal head						
		with countdown timer;						
	5438	complete as specified	Each	8.00	\$370.00	\$2,960.00	\$367.00	\$2,936
		Install CITY-supplied						
		pedestrian push button;						
	5440	complete as specified	Each	8.00	\$211.00	\$1,688.00	\$210.00	\$1,680
		Install CITY-supplied 20'			·		·	. , ,
		tapered pole with						
		transformer base;						
	5452	complete as specified	Each	19.00	\$581.00	\$11,039.00	\$577.00	\$10,963
		Install CITY-supplied 10'			400-100	4/	400	4-3/200
		truss-type luminaire arm;						
	5458	complete as specified	Each	22.00	\$370.00	\$8,140.00	\$367.00	\$8,074
	2 200	Install CITY-supplied			ψο, σ.σσ	Ψ0,110.00	400,100	ψ0,07 1
		cobra head luminaire;						
	5470	complete as specified	Each	21.00	\$211.00	\$4,431.00	\$210.00	\$4,410
	5470	Furnish and install Type 2	Lacii	21.00	φ211.00	φτ,τσ1.00	φ210.00	φ4,410
		base; complete as						
	5502	specified	Each	16.00	\$1,214.00	\$19,424.00	\$1,205.00	\$19,280

Contract 23-02 - West Lincoln	Avenue and M	cKinley Street Reconstructi	on (#8380709)					
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of	f							
Bid Opening: 02/20/2023 11:00	AM CST							
					Dorne	er Inc.	PTS Conti	actors, Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	item code	Furnish and install Type 5	COLVI	Qualitity	Omt Tite	Extension	Oint Frice	Extension
		base; complete as						
	5504	specified	Each	20.00	\$1,029.00	\$20,580.00	\$1,025.00	\$20,500.00
		Furnish and install Type 9						
		base; complete as						
	5506	specified	Each	2.00	\$2,112.00	\$4,224.00	\$2,095.00	\$4,190.00
Bid Total:						\$4,208,623.19		\$4,503,860.00